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Set Id : 62384 29 BATCH3_D.EI.Ed. Odia_10NOV2020

Section 1 - Paperl-English Language

No. of Questions: 10

Passage Questions (1-5):
Read the passage and answer the questions that follow:

The shore that they were walking on drew nearer and nearer to the opposite shore, and as they
came around each promontory the children expected to find the place where the two joined. But in
this they were disappointed. They came to some rocks which they had to climb and from the top
they could see a fairway ahead and - "Oh bother!" said Edmund, "it's no good. We shan't be able to
get to those other woods at all. We're on an island!"

It was true. At this point the channel between them and the opposite coast was only about thirty or
forty yards wide; but they could now see that this was its narrowest place. After that, their own coast
bent round to the right again and they could see open sea between it and the mainland.

1) Where did the children want to go?

A) Island

B) Mountain
C) Shore

D) Woods

2) What was between the children and the mainland?

A) The sea

B) The woods
C) The bridge
D) The grass

3) Why were the children disappointed?

A) They took a wrong route

B) They wanted to go to the island
C) They wanted to go to the woods
D) The sea was rough
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4) What did the children climb?

A) A stairway

B) Some rocks

C) A mountain-top

D) The enjoyment ferry

5) Where were the woods?

A) Not on the island
B) On the island

C) On the mainland
D) In another country

6) Which of the following is a correct sentence with respect to use of words: stationary or stationery

A) A stationary shop may do a good business near a school.

B) A car collided with a stationery vehicle because the driver thought that it was also moving.
C) lused hotel stationery to write to my father

D) It requires more force to move a stationery item due to it's inertia.

7) The phrase “lavish something on” means

A) to provide very less
B) to give a lot of something often too much

C) to provide the exact amount needed
D) to provide nothing

8) Fill in the blank with correct prefix or suffix:

He wise argued in the debate and won the first prize.

A) ly
B) ward
C) long
D) ful
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9) Which of the following words is correctly spelt?

A) obscession
B) obsession
C) obscesion
D) obsetion

10) Which of the following alternatives explains the phrasal verb "Hammer away at something"?

A) To work hard and still did not achieve anything
B) To achieve nothing in life

C) To achive something easily

D) To work hard to achieve something
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Section 2 - Paperl-Education and General Awareness

No. of Questions: 5

11) Which of the following groups of plants comprises highest number of species diversity?

A) Pteridophytes
B) Bryophytes

C) Gymnosperms
D) Angiosperms

11) @@@61@@61 @] 661F1 FIANQ 6RE6 ARIEG TG gRIen §GeIg 590 606 ?

A) 69G6RITIRG

B) qiqaiag
C) @emdq
D) aiisadq

12) Which of the following objectives of Nehru's foreign policy is incorrect?

A) to preserve hard-earned sovereignty

B) to protect territorial integrity

C) to promote rapid economic development

D) to be more friendly to the bloc led by US because those were pro-democratic

12) 6ncaqw 636089 Q100 AFATE A6 FAIQ 6096 QN ?

A) @09 886 AG6HAQ a8l @RS

B) 2reda 2¢ael gl @t

C) ge 28650q Fqlq 691986 @il

D) 26A8RIA 699QII7 9R Oial A8ie QY9 624! AIAE 6aAIER C¢I0IR 26

13) Non-formal Education is -

A) that which occurs outside the formal school system

B) any organized systematic educational activity carried on outside the framework of the regular
system
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C) aninstitutionalized chronologically graded and hierarchically structured educational system
D) the intentional transmission of attitudes knowledge and skills

13) 24-GARIAR dal c2ab -

A) giel BA91AQ Sauee Quegl QRIea AFealN
B) A0 QI [rel QII6a SRl 64 6@I6E rade QYege JaIee RIGYeRId
C) @ AQVER AAAQAIN Q6190 IS° @AIgRAR AI96q ad6 8l MY

D) A6219R 9o RIR vs° 6AI9Ra as0aiee TgARs

14) Mr.Sam Pitroda, Chairman of the NKC, was a recipient of one of the given awards.

A) Nobel Peace Prize
B) Padmashree

C) Padma Bhushan
D) Bharat Ratna

14) \Q 6@ Q a seaiaaug §. an deglel, QULIRAYR! JAARAGEFR F1IQ U@ JRAUQG awesa

A) 69169 818 geia
B) aqd

C) ag gae¢

D) ®i6e 64

15) Which strategy has been a great success in India and around the world in developing public
speaking and listening skills and promoting communication and interaction among children early on?

A) Do and tell

B) Work and tell
C) Show and tell
D) Write and tell

15) 629 Q¥INI0 SIREER I&° ANLRACH NARIREER 222 8 4Iel @F6I 9K Y&* JAAIRE AUER 6UIGICAIN G IR WK
2RRYRY 691G F6Q 7

A) 999 6 geg
B) RIdI90g 6 geg
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C) 6@¢lig 8 999
D) 6Réig 68 g2g
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Section 3 - Paperl-Reasoning

No. of Questions: 5

16) In a dictionary, where the words are listed as per the alphabetical order, among the four words
given as options, which of them appear 2nd?

A) Backward
B) Bacterium
C) Balance

D) Barometer

16) 4@ 2EIR6Q, 6UH0IR a@ﬁl@@ edlgafie grea oiRege 6RNEE, Ges aesa SuIRIR SIGRIT 99T AMIQ 6ad §o1a
AR6q 2134 2

A) Backward
B) Bacterium
C) Balance

D) Barometer

17) In a certain code language, if the word GEAR is coded as HCBP, then how will the word HEAT
be coded in that language?

A) IDBR
B) ICBR
C) ICCR
D) ICBP

17) e 68a caig aisise, 9@ GEAR se HCBP @iesa 6@ig, 62168, 6o6e HEAT ¢ad q 6a@ aisica @98 6x1a, @9l Qe

A) IDBR
B) ICBR
C) ICCR
D) ICBP

18) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.
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2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If p is a positive integer, is p even?
l.p(p + 1) is even.

I.p(p + 2) is even.

A) 1
B) 2
C)3
D) 4

18) FANYS 9§qdasa 636 @ :
0. 9@ Q4! | ania RV saIg acas AGT |

9. 9@ G4 |l uqial araia QRQ caalg geaa 26T |
qn. 96 YRG! | ver || aeag 1aI0 F2I8 6066 ANAIR ARR 699! Alel ATUIG 26T |

¥. 9@ Q98! | ver || eeag a0 H21de 6069 B AN AAD 6991 I ALY Q6% |

A8 P 9L ANIQR QT 26T, 6960 P Yg AT @ ?
l.p(p + ¢) ag a6 |

II. p(p + 2) 99 &ee' |

A) ¢
B) ?
c)a
D)%

19) In an evening, Udai singh and Vishal kumar were talking to each other face to face in an open
field. If Vishal kumar's shadow was exactly to the right of Udai singh, then in which direction was
Udai singh facing?

A) East
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B) West
C) North
D) South

19) Qavica 999 & 96 G4in QAIQ 9@ calinl adeIca AIFIAf 821 6N 2 ceadicn | 98 SaIR QAIRS 19 6o T OF G116
agea AP8a, 6069 AR PIA 606 dag Jeiaden ?

A) 99
B) add
C) aaa
D) @@¢

20) In the following questions, mark:
1, if statement | alone is sufficient to answer the problem.

2, if statement Il alone is sufficient to answer the problem.
3, if statements | and Il both taken together are sufficient to answer the problem.

4, if statements | and |l taken together are NOT sufficient to answer the problem.

If Z is an integer, is Z prime?
|. Z leaves a remainder of 2 when divided by 5.

.10 <Z2 <20

A) 1
B) 2
(631
D) 4

20) GONYQ ggeéasa 636 aeg :
0. 96 GIQE! | anaie QD 6elqg a6 26T |

9. 9@ GG Il wgdel anaia AR sealg A6aa S6S |
M. 98 F9Rd | e || aeag a0 F2IT9 666@ AAAIR PRV 629 TIe ALUIY 26T |

¥. 4@ @904 | ver || asag N0 F2189 6069 & AnAa QAR 699! g adug g6 |
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a6 Z 9@ gdie 266, Z 64110 Qo6 @ 2

|. Z, 8 Qlal GaIee 6960, QYA QIe69d 9 Q@9 |

. eo < Z < 90

A) R
B) ?
C)m
D) s
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Section 4 - Paperl-Teaching Aptitude

No. of Questions: 10

21) Who amongst the following was influenced by Montessori system of education and based his
aims of education on the Montessori system of education?

A) Tagore

B) Krishnamurti
C) Gijubhai

D) Aurobindo

21) Gedge crIQ @4 6ersE6aAIR 48l g4IRT QA 9RIRE 621QAM Y6 6APCEEAIR J8 Q19 AUER SIGR RIS 2IRGHIG AIRIQ @R ?

A) QIesl%
B) @89
C) #go
D) zea@sal

22) Which behavior among the following may be referred to as an appropriate behavior of an effective
teacher for classroom management?

=z

Punishing the student on misbehaviour and being a strict disciplinarian

Helping students in each and every thing and making them dependent

Regular monitoring of engaging the students in a variety of classroom activities

Teaching them using a single teaching method and engaging them in the same kind of activity.

o)

sow

22) Gq@ee FRICA 6RE 2I9ad 644192 JRaRI Jiel K66 JRILSIRT ZRITAE AUge ZI9ad 691R QRIUIRIER ?

A) 8195 UAACRE QAR VP 6991 I VS AE0IR AFAAXRIRY

B) gsey@ S0866 lerles AITILY FESI Ve 6aAFIRT FRad? aael
C) 21e019g A6 644192 ANIaRI06a Fealde ateia fade Q8 adql
D)

6QFIRE 98 JRIQIR JaINT QIRLIQ KA Ne° 6A7IFE AR RIN6 AITIRNITR F6aIRe 9RQ!

23) Which one of the following statements is correct?

A) Free and compulsory education should be banned because a huge amount of government
money is wasted
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B) Free and compulsory education should be banned because people don't like free education

C) Free and compulsory education should not be banned because it is the fundamental right of
every citizen

D) Free and compulsory education should not be banned because it can help privileged and elite
students

23) AR 602 98946 0] ?

A) Q94 B QRIFIGR AT TR 6291 QPR FINE JPR IRAIER AXRIAT 22 7% 6288
B) QI9idl B QiueIfee d31 FER 6201 @04 RIQE SRIRAIER FIGIEI SRIQ IAL KQRILI
C) qIedl B QRISIR ABI TR 621 AEQ F6¢ ARG U2 J6SYR FITERA 671w 2R

D) QIo€I 8 QRIGIFRS TN ATF 6291 QOQ F6< RIRE 12! AQ AV 61T ARSI 6 AR 6941A BIGRIIF
QAIRIYY K6

24) Which of the following is the basic form of programmed instruction?

A) Systems thinking

B) Linear programming
C) Conditioning

D) Stimulus response

24) Gqage frg 6266 6208 69I9IA FRIAIRLRI F6Rda 6FIRE A ?

A) daa &al

B) 6ol 649Ig|IEe
C) a8adr

D) &dnQ goaal

25) Brainstorm strategy will NOT help students to

A) recall existing knowledge and organise ideas

B) develop good handwriting skills

C) consider others’ views and ideas

D) develop creative thinking processes and problem solving skills

25) qI999ge Q4916 218AIRg 18R AIRIYY REQ QIE
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A) Gavaie meq Ase ARIQR| e uIedl ade AR
B) aq 225¢e ool a9 ¥AQI6Q
C) snvies fe Ne* diagl agen faa @ALIER

D) Jaasin Galual 4e° Ay AANIR KGRI Qa0 FRl6 FAQI6Q

26) Which of the following examples best explains the social perspective on motivation? Saira is in
class nine. She hates maths. Her teacher

A) gives her extra coaching everyday

B) sends her for to the school counsellor

C) puts her in motivated groups

D) calls her parents and asks them to speak to her

26) Gaage 292a8gea FIQ 6R6E 6gadl TR AIRIFR QFERIIY A6RIFN QINER QUISH R6Q ? ARG AR 654160 JRE | 64 SI&eq
g6l @08 | ol F9e

A) gig 9666 2669 saI6* caq 2IIS

B) oIg Saee aqrdaels fesg JOIB

C) eig sgdie saiaicn AINR ¥

D) oi& deReIg IR8 9 I A2 G2l 62lg 998

27) B.F.Skinner conducted his experiments of operant conditioning on

A) Guinea Pig

B) Dogs and Cats
C) Pigeons and Rats
D) Bats and Crows

27) & 4T 406 G0 26001g @8AF aIaE QAU FRLEM |

A) qadal gge

B) @eaflIf@° ver Geaafliaa®
C) acaedlloa” ve qaaaa”
D) cige19e° 1o aIealIee°
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28) The TPACK model of learning created by Mathew Koheler and Punya Mishra is best expanded
as :

A) Teacher's Pedagogical Aplication Content Knowledge
B) Teacher led Particular Curricular Knowledge

C) Technological Pedagogical Content Knowledge

D) Techniques of Practical Content Knowledge

28) qizy caIcene 9 el dge GIal gge JNIgig @hia §8udew a6ceal RPER 6B Q6d F9iee

A) d8ae S99 6IoYel FEAQg RIT
B) des Qa1 Ageial AGa aIoy &IQ
C) 67ade dmIge Fa09g RIS

D) SiQ2itia Ja99g KIFR 6714w

29) The National Council of Teacher Education (NCTE)lays down which of the following norms?

1.norms and standards for various teacher education courses
2.minimum qualifications for teacher educators
3.course and content and duration

4 .grants recognition to institutions

A)2&3

B) 1,2, &4
C)1,2,&3
D)1,2,3&4

29) RIG19 d9e 491 9A8Q (NCTE) S9Rde AuQ 609 91901 96 K987
1. 5997196 431 AIR g9 AI0IFA IR ARITR G QIR

2 J9@010g AAIQIE @QAQ FARAIRE I ASRE) 64IG4S!
3.dI0Yg9 8 FAARY B 2R

4. ARG 9196 IIQ
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30) Which of the following domains of Bloom's Taxonomy is designed to change individuals attitude,
feelings and values.

A) Cognitive
B) Affective
C) Psychomotor
D) Effective

30) 9aa cusgIERIFia GgRAYe 69167996 FIQ 6RUE MBTCHTF FEAINIR, NI IS FAICRIIG IAQER @Gl IR F2I8 62198

A) BIGORQ
B) zlieeaie

)
C) agauqe
D) 9Qsiq1
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Section 5 - Paperll-Odia Language

No. of Questions: 15

31) B6EIR FUQ 629G IR GIRM 4G g6

Ao
B) @
O
D)e

32) 624 2AE U6AR IPEA JNE TJ6Q ARG 62IRAIN ?

A) @9ag
B) 2qqd
C) a4
D) zies

33) Ga6 KA 9248 KRR §AIg 'S Q1A ?

A) 2ede G
B) aedie Gai
C) Gade gal
D) dig g%

34) ‘i’ 496 F0aeIdearIa 99 QI8 |

A) asIgiR
B) 2GS
C) aeide
D) aige

35) ‘RI0CUIN' — UG 69 AL 62166 FIR 6RINE?
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36) A67ID AUQ 6ARE ARG!I?

A) 2IRQ
B) qlai®
C) aaq
D) qioe

37) ‘Fa’ JoIAeR RILIR 2SI 29 ?

A) ‘@A
B) ‘@’ @i
C) ‘@’ @
D) ¥ @i

38) ‘@rieql eadal’ QFa 2d Qs aa |

A) 29618 @G
B) a9I4l 624
C) Q@ 629
D) 260 624l

39) ‘G2 Q19 6291’ QFQ 2 FQUE @R |

A) QIRErE1 6QIQS!

B) £I10¢ia 624l

C) Q98 gald @

D) 990 194 @ 2R @@ @QQ!
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40) F6IB FIQ 628G IR YREIRISR F6HT?

A) Qe
B) aio
C) qaq
D) ais

41) ‘Qed’ 49Q AR 98 UL |

A) YR

B) 9ia Qi@

C) Q2IRIER IR0 624
D) 6?27 Qe

42) ‘QOQR’ 400 69Q 226q LIRS AAIA 62IRT?

A) Qigaly

) 990l
C) aeng
)

v3)

D) adye/21ae

43) ‘e’ 2dea ‘@2’ goie 6Q196a 606 deg QIg |
A) aqa
B) aisig

C) @iga
D) Zrauqa

44) F6Q1I8 AIQ 629 FRFER ‘ARG’ F9T U@ F6HAY QEA QLG 62IRE|

A) Q@9 @aede g9
B) 6qied a9

C) 6Q @64 @09 Q4@
D) Qi@ @59 e
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45) 6a6% ‘gIAQ’ 49 g6 48 969 |

A) e
B) geI@a
C) 9QI@
D) Qieqe
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Section 6 - Paperll-Mathematics

No. of Questions: 15

46) The number of boys in a class is 5 more than the number of girls. If the total number of students
in the class is 35, then what is the number of girls in the class?

A) 10
B) 15
C) 20
D) 25

46) 661G 654116Q QIRG AIRE U ARATRT QRAIEQ 8 2R | AT 6541Q 6710 RIQ AU M, 6069 6460 QRAARET L
6@Ee ?

A) 10
B) 15

C) 20
D) 25

47) What is the perimeter of the semicircle which circumscribes a right angled triangle in which the
lengths of perpendicular sides are 15 cm and 20 cm? (Use 1 = 3.14)

A) 39.25 cm
B) 64.25 cm
C)75.25 cm
D) 50.25 cm

47) 9@ 26900 afQIFl 6R6e 620 Il 99 A4 §9eq IAREe 798 6JUZER AR QIge I B8 6QF e 90 6adA ? ( TT = q.0%
LR K08)

A) 39.25 cad
B) 64.25 sad
C) 75.25 s4d
D) 50.25 ead
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48) Which is the greatest number that divides 464 and 267 leaving the remainders 4 and 7
respectively?

A) 14

B) 18

C) 20

D) 40

48) cad QLAY Tuis 464 ver 267 ¢ 08 @6a 6 QG aaIger 4 e 7 Qso ?

A) 14
B) 18
C) 20
D) 40

49) A sum of money becomes ¥1,350 in 3 years and 1,530 in 7 years under simple interest. What
is the principal amount?

A) ¥ 800

B) ¥ 1,015

C)¥1.,215

D)% 1,250

49) 9a §0a ad gan guea M edsa T 1,350 9o 7 edea T 1,530 ceinar | 90 a8lé 6068 ?

A) % 800

B) ¥ 1,015
C)Z 1,215
D) 1,250

50) If the system of linear equations 2x + 3y = 5 and 4x + 6y = k has infinitely many solutions, then
what is the value of k?

A)5

B) 10

C)15

D) 20
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50) @@ 2x + 3y = 5 wer 4x + By = K @ 604199 afiacdia dacsa 2aif QIee Asea AR 088, 6069 K a 7118 6060 ?

A)5
B) 10
C) 15
D) 20

51) If a quarter of a circle of radius 7 m is cut from each corner of a square paper with side 16 m,
then what is the area of the remaining paper?

A) 81sg. m

B) 102 sq. m

C) 154 sq. m

D) 156 sq. m

51) 9@ 9 foq MARSTY 4@ QE6 IR-0gdrdq €9 feq dlada QITIREa J6eia 6a16Q AGIUIN, 6969 ALTA QTR ERQTR 6R6E
69Q 7

A) 81 <di figa

B) 102 ad fea
C) 154 «d fiea
D) 156 ad fea

52) Four clocks alarm after every 20 minutes, 30 minutes, 1 hour 20 minutes and 1 hour 40 minutes
respectively. All the clocks alarm together at 12 noon. They will again alarm together at

A) 12 noon
B) 8 a.m.

C)10a.m.
D) 12 a.m.

52) qsaid arel vagen ge 20 dde, 30 dde, 1 erel 20 8¢ e 1 erel 40 d66 asa 2IRIF c9@aM | a918 er6l 9ag §g2a
1260 906 2nd §2S | 627167 42 AA6R Y& ¥ae AN 6QEQ

A) 12 noon
B) 8a.m.
C)10am.
D) 12a.m.



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

53) A cloth merchant says that due to drop in the market, he sells the cloth at 15% loss. Since he
uses a false metre-scale, he actually gain 20%. What is the actual length of the scale?

A) 81.83 cm
B) 79.83 cm
C) 70.83 cm
D) 62.45 cm

53) 48 @00 Q1A §28 64 eRIGsa 214 62¢ A @0eI§ 15% FF6a 6 FaE | 6062¢ 6a ¥ fayl Foa-6an IeQ Fad, 69
g9e6a 20% QIR @3 | 63RQ QO A 6R66 ?

A) 81.83 sad
B) 79.83 sad
C) 70.83 sadi
D) 62.45 sad

54) A train covers 90 kms in 1.5 hours.What is the distance covered by the train in 3.5 hours,
travelling at the same speed?

A) 150 kms
B) 180 kms
C) 210 kms
D) 240 kms

54) 1.5 ere1 auiea 99 66 90 Fsqifica 2B Q6 AL 6Q46Q QG @Q2lel 669 3.5 erel FRIER 6966 QO AIGI AGQ ?

55) If Ais a subset of B, then AU B =

A) A
B) B
C)A-B
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D)AxB

55) ad A c2ed B o 9@ ae69s, sese A U B =

W »

> r o >

)
)

O

-B

)
JAXxB

=)

56) Which of the following is the least 6 digit perfect square?

A) 1,02,400
B) 1,00,200
C) 1,08,900
D) 1,00,489

56) dedge arQ 606 aaqq 6 2 dde argd o4 ?

A) 1,02,400
B) 1,00,200
C) 1,08,900
D) 1,00,489

57) What is the number of diagonals of the polygon in which the sum of all the internal angles is
1080°?

A) 20
B) 32
C) 36
D) 40

57) 4@ 2299a 2iueald caldgeaa aad 9§ 1080° g9 vaia a4 eyl 6760 ?

A) 20
B) 32
C) 36
D) 40
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58) At present, Neha is 12 years elder than Renu. 6 years ago, Neha was 4 times as old as Renu.
What is the present age of Neha?

A) 20 years
B) 22 years
C) 23 years
D) 24 years

58) @eqq, 692l cagw 019 12 @d 9@ 1 6 @d 964, 6791 6agw 01Q 4 94 9dQ 26 | 672EQ QEINE 904 6766 ?

59) If A= {1,2,3,4,5,6,7,8} and B={1,3,5,7,8,9} Then what is the value of AAB =9

A) {2,4,6,8,9}
B) {2,4,6,8)
C) {8}

)
D) {1,2,4}

59) 0& A= {1,2,3,4,5,6,7,8} & B= {1,3,5,7,8,9} 666e <eia I8 saco cea AAB =,

A) {2,4,6,8,9}
B) {2,4,6,8}
C) {9}

D) {1,2,4}

60) A child arranges 3,025 chocolates in the squares(boxes) of a chess board, such that the number

of chocolates in each box and the number of boxes selected to place the chocolates are equal. How
many boxes are left without any chocolates?

Soz=
- O ~N®
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60) 4@ 3¢ 9@ 699 6916a 94 (919) 6a 3,025 G6RIEAS IPYI FERQ, 6IUR YERIR QIFEQ PERIGAT TH I CERIERS QYS! Al
FIERINIE QIF TraYl ARG Q29 | SERIENS GF 6RERIT QIF ¢IR a2l ?

A) 6
B) 7
C)9
D) 12
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Section 7 - Paperll-Social Science

No. of Questions: 15

61) The study of Atmosphere is called

A) Aerology

B) Geology

C) Astronomy
D) Meteorology

61) QIgae A6 AU N2 FLIIN

A) QI8 QRIS
B) @ a®iQ

C) 6RUIGTRIR
D) aiéicicl Sed

62) A group of Islands that lie in fairly close proximity is known as

A) Eyot

B) Estuary

C) Gneiss

D) Archipelago

62) 919gEQ IR 69191 D GIY FRTeR 26T, Y121 N8 QIFEQ e4aIgs

A) @aig

B) agaiai
C) diq

D) aigeamisal

63) The Governor is the Head of the State but the defacto executive authority rests with whom?

A) Council of Ministers
B) Chief Minister
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C) Prime Minister
D) President
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63) Qieiaie 62888 QIR QMY @g @TI6q AT RGO RIDI TR 24 ?

A) a8 QR
B) qenaa
C) guIeaa
D) Qug.a&
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64) Rajatarangini' is a literary work by Sanskrit scholar Kalhana, and it describes the history of

A) Goa

B) Odisha
C) Kashmir
D) Kerala

64) URVIAFTE 'AYG VLG FRVFIR IR ATNR RIY I9° 9L ILIQ ATLIAG R F6Q |

A) ealiell
B) 6%4ll
C) qigia
D) eaaq

65) Acid rain originate mostly from

A) Steel plant reactors
B) Thermal power plants
C) Nuclear reactors

D) Medical waste

65) 29 edl 996 ¥Fq ady 62NN

A) 26 ISR goaal
B) ¢19% G940 69
C) 2Sea goaal
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D) @aiea esieg

66) Which word describes the extremely hot liquid and semi-liquid rock located under Earth's
surface?

A) Plasma
B) Sima
C) Magma
D) Sial

66) 60Q 98 Q91 GI6R AGTE AGIIR FIGF1 GAR 9e° AF-0AR JRIG YA A6Q?

A) QIge
B) aiqu
C) auigql
D) Qaim

67) A dispute between the Centre and State is resolved by the Supreme Court under

A) Article 133
B) Article 132
C) Article 131
D) Article 131 (1)

67) gdneaise gial @ MIQ 21969 699 8 AR UCA HLIRR AR 29

A) diei e
B) aIel em9
C) diu eMe
D) &liel @R (e)

68) Who amends the law relating to Indian Citizenship?

A) President
B) Prime Minister
C) Parliament
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D) Supreme Court

68) Q1619 FIGGRe! AANIA ARFER B LESRIR KOS ?

A) QURAG

B) guiaaat
C) @a@

D) 69ie QUIee

69) The regions like Antarctica, Australia and the major part of South America are located in

A) Eastern Hemisphere

B) Western Hemisphere
C) Northern Hemisphere
D) Southern Hemisphere

69) araideal, 26andl 1e* o8¢ UIEARARIA JYH 2 0Q reRgee YR0I6a A9Fe

A) 99 saiqie
B) adq eqlique
C) Q@9 saique
D) @f¢l eqlque

70) Which party observed 'Black Day' on the 3rd July, 1947 against Partition of India?

A) INC

B) Communist Party of India
C) Hindu Mahasabha
D) INA

70) Q100 AR TR N YRR, € XD 6Q 699 0@ ‘ARl 9’ AIRE AR ?

A) R

B) @qyra ais ac adal
C) #q A2iQal

D) a8
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71) King Harshavardhana who ruled a large empire in northern India belonged to

A) Shunga Dynasty
B) Paurava Dynasty
C) Pushyabhuti Dynasty
D) Satavahana Dynasty

71) 299 QIAER @ 926 AT SIAP FQAR! AIF 2EIRETR 26R

A) gef QIe°8

B) sdlaiel Qige°4
C) gaugt aiea°s
D) aeeieq QIea°s

72) The Ministry of Environment, Forest and Climate Change is responsible for

A) The livelihoods of Tribals

B) Recruitment of Indian Forest Service

C) Administration of National Parks

D) Maintenance of tribal culture of forest dwellers

72) 98019 96694, PFR NG FRAIY UG ARG QI

A) LA F1Qa!

B) 6019 9&R 629160 G99

C) 9Io1a QIegeaa gaIae

D) SIS ARAIA LYER QBEI6LB6I

73) Which of the following options is correct regarding the transgender community?

A) Shabnam Banu was the first transgender to contest an election from Tamil Nadu

B) Eunuchs/transgenders were granted voting rights only in 1994

C) Shabnam Banu was defeated as she did not qualify to contest elections for public offices
D) Transgenders were granted voting rights only in 2014
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73) ¢Ig609a Q1A F9U6a FIAYE FRaIFe NUQ 69T A0R 86T ?

A) 9964 Qg Jar SIFERAR AI6R PIRRIgQ FAIER6R Y8R0l @aZeR

B) @98/ SIERUQAIRT 6297 € ¢ CY 66 6RICAIR AYRIQ YAIP FAUARARI

C) 2aeial ARG AR SR AEIQ 6UIGHG @ JRIQ I9R Qg JIY 62NN
D) SI6R9aMIRg 689@ 90 QY 6Q CAITRIR ZYAIQ AR FAIAIRAR

74) The Equator does NOT pass through which country among the following options?

A) Brazil

B) Indonesia
C) Mexico
D) Kenya

74) Gofge FRYEP TUEQA QW 694 69 YFUCAH! AIQRIT ?

A) i

B) @cai6ad2Il
C) 6AGeaR!
D) 6aa2l

75) The Hindustan Gadar Party was headquartered in which of the following cities in United States?
A) Chicago

B) Oregon

C) New York

D) San Francisco

75) 999% 09 ATQ Qi AITIRD AR FNYS A9agea FUQ 6RR0I6R aal ?

A) Gaieal

B) Gsasi®
C) Qo4

D) A T
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Section 8 - Paperll-Science

No. of Questions: 15

76) Which of the following chemical reactions can produce NH3 gas?

A) NH4Cl and HNO3
B) NH4Cl and Ca(OH):
C) Heating NH2NOs3

D) N2O and H2

76) Saaye aaude 9oaal A 62ae NH3 cua aqes «dalde ?

A) NH4Cl v HNO3
B) NH4Cl wer Ca(OH)2
C) NH4NO3 aiea @9l
D) N20 wer Hz2

77) What is the unit of 'b' in the van der Waal's equation?

A) L mol!
B) mol L
C) mol?L?
D) L2 mol*

77) 4P 606 Am Aeadsa 'D' a vaq @’'¢ ?

A) L mol!
B) mol L
C) mol?L?
D) L2 mol

78) Which of the following has Newton meter as its Sl unit?

A) Acceleration
B) Work
C) Force
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D) Velocity

78) AORYE AUQ 69R96Q GRo] A0Q , SI ae / 98T QUeeS 94 ?

A) Q@€
B) iy
C) oa

D) 6q9

79) Select a foodborne toxin of the following:

A) Diptheria toxin
B) Tetanus toxin
C) Botulinum toxin
D) Cholera toxin

79) GeqIe AIQ SRR FaIB 9918 QI8g:

A) @a62Q2l 6989
B) (ala]lale Jalala)
C) 6Q1gheq 6@a
D) @6aal 6§

80) Pome is a fruit which is derived from

A) multicarpellary syncarpous inferior ovary
B) multicarpellary syncarpous superior ovary
C) superior monocarpellary ovary

D) bicarpellary syncarpous superior ovary

80) cain 6208 Y@ T@ KLl 9Q QY

A) TRRIsdaIa AwIsaia FAIRa BRI
B) ARRIsdaisl diseia gda B
C) g962a A6QIRICIRIR BAUR

D) Qlpaisdaial Faleaia gaden BaIe
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81) Select the reaction which produces ortho-para product on benzene ring.

A) Benzaldehyde with methyl chloride in presence of anhydrous AlCl3
B) Phenol with methyl chloride in presence of anhydrous AICI3

C) Benzoic acid with methyl chloride in presence of anhydrous AICI3
D) Nitrobenzene with methyl chloride in presence of anhydrous AICI3

81) 6Q% goRuIq Q193 UILIR 6RR6RR AeFea 26ll-UIel QYUY QUYL F6Q

A) aReea AlCI3 a @adfea faiam 6qIa1ae 286 698INERINS
B) agiega AICI3 a @agdsa faian 6qiaae 996 66QIR
C) ageea AlCI3 a0ddsa faam 69lane 996 6260170 1de

D) aqega AICI3 & @agdse flaian 6qla1ae 996 QIRELIEasER

82) The value of triple point temperature and pressure of water respectively are

A) 373.17 K and 3.02 x10-3 atm
B) 273.16 K and 6.04 x103 atm
C) 73.14 K and 1.05 x102 atm

D) 103.27 K and 2.43 x102 atm

82) Gam ore 01asIgl 9 KRa 6ld 6208 Q6

A) 373.17 K wer 3.02 X103 atm
B) 273.16 K ws* 6.04 x103 atm
C) 73.14 K we* 1.05 x102 atm

D) 103.27 K ve» 2.43 x102 atm

83) The energy that is most likely to be possessed by the water that is stored in huge tank is

A) electrical energy
B) kinetic energy
C) potential energy
D) sound energy
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83) 4@ 920 QYIF AR AAFG ISR QI 9T 62RR

A) Q4o 818
B) ade ¢@
C) 96c €9
D) ¢ 63

84) Earthworms breathe through their

A) Skin
B) Trachea

C) Pores at its anterior end
D) Lungs

84) Gl 6o 99! AlRIFCR §gIAgYIA F2S

A) od

B) siaa

C) 1218 99 I96a 89
D) 9299

85) In mitochondria the inner membrane forms a number of infoldings called the

A) Thylakoid
B) Grana

C) Cristae
D) Matrix

85) AIRssIaduIsa foaa 671638 I8 QIR AR ANETIRS 08 F6Q

A) ARIaN8
B) e

C) a«

D) AISe
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86) Persistent calyx refers to the portion of calyx that remain with the fruit at matured stage. It is
found in

A) Capsicum
B) Garlic

C) Onion
D) Chives

86) @1dgian @Iae @f6n @IRga 2rag Q€N A9l afq 29 Ie A8 6RIRAN YAl NOIER dmald

87) What will be the formula of a compound consisting of three atoms in which R occupies the
corners, S occupies half of the edge centres and T occupies the body centre positions?

A) R3S2T3

B) RS3T

C) R2SsT2

D) R2ST2

87) G6aie aanigq 6aa a0e cAidea ada @'4 62e caagsa R eqigg, S aaa 2 2ra ver T 4a1a 6a1 J8q adm adead ?

A) R3S2Ts
B) RSsT
C) R2S3T2
D) R2ST>

88) The value of work done is positive if angle between the direction of force and the direction of
motion and displacement is a/an

A) acute angle

B) obtuse angle

C) parallel to each other
D) right angle
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88) QINYQ FJAY BIAR 94, 9T ARQ AF 02 AREIR A 9e° FYIAR AR 99 ;

A) g9 616
B) g% 618
C) aqieqie
D) a¢ 6x16

89) Which of the following is associated with Planaria?

A) hibernation

B) lost body part

C) generate bioluminescence
D) survive without oxygen

89) @A frIQ 6968 IRt 980 K60 ?

A) LIRNPETLL

B) saicq zra @RS

C) aisaipaiasqq 98 9QQ!
D) zqeie Ge1 Q@Q!

90) In plant cell, the primary cell wall lies internal to the

A) plasmodesmata
B) secondary cell wall
C) middle lamella

D) tertiary cell wall

90) a8ie 6a196Q, gi2fie 6219 IR 921 ZIRISAIE AT

A) SIS

6A@°2Q sais 9191
AR Qeaql
6%

S2Q sqia I9IQ
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